Solving Radical Equations Continued (6-5)

Solve. Check for extraneous roots. CH ECK
‘JI T—-5=x
Ex.1 Jx+7I5=x ’
20hT 5= T -5=(0
J+7=x+5 J4-5=-3 N-5=—-6
) . 2-5=-3 1-5=-6
(Jx+7)=(x+5\ —3=—3/ 46
X=7"" o= Answer:
0=x+9x+18 { 3}
0=(x+3Xx+6)

x+3=0 x+6=0 CHECK'

x=-3 or x=-6

UGH! Two radicals
Ex- 2 Vx+5 = ‘\/ﬂ But...each is isolated so it's easy!!

(a4

x+5=2x
.)( —X
5=x
Should we bother to check? CHECK
YES!!! el ‘/_



LOVE this one...hint
3 JZI-FI —‘J;=1 You cannot isolate both of
,{. S}: Q,J)Zhese at the same.time, so

choose one to isolate

(442x+1t§=\s[;+§ \ P

LOOK! This is better. We only have
one?'dlcalnow .isolate it! J; J;_’_\pl\f;
20 o)
\3% 2e+1= x+zJ_+1 =
D zx1 il
L Q/ = Fenr=ar=axr
F=dx
X —dx=0
x(x—4)=0

x=0ar r-4=0
Should we check?

*=0&==4  ABSOLUTELY!!

x=0 X=
J2x’+1§'§=1 J2x’+1—J§=1

jim—ﬁﬂ JED i =1

—0=1 8 a2-r

1-g=1 2 N

- le\/l X {Joﬁ}

Exd (x+5) =4

Really...this is a radical equation, if you wanted it to be!

,1‘f(:.:+s)2 =4

Remember, we are just solving, so we
don't have to write I|H5 in radical form

x+s=(JZ]’ (\H—_S)

x+5—(:|-2]’/ or YeS=t g

x+§=8 or x+5=—8 X3 <+ % )
x=3 or x=-13 X:-Stxe =3
(.\Vet.\(’. =3%:-13
_o CHECK!!
X=3, X=-13, W =4
(x+5)5 -4 (x+Sjp=4 Xe e
(o= (—13+s)§ =(Jony () oy
@) =4 (=4 \NT-4 > .
. . 1)
(4B) =4 @8 =s  )PE= Sgge
(2)'=4 (-2) =4 =4V §=4 v

4=4 dd



Ex.5

3

3(x=2p=24

=2 3
Divide by 3 first, then...

(x-2)7 =3



